A/ew'/l'l&r ”de
od
Cya"J U/?M‘%'Ca#m

Lectme XX VI

£ 22022

L H()
W/oﬁle/ 2022



Y0 (i0) GOT

) Newtwyw Hacs aud
I ( Cyﬁr“{
‘lgurlles: &Véaa’ W 72

— A///W D-:J}/H'VW(

Ini
2)  fewn ey ﬁa« fl b
Wilcwh  bee /182

¢ S'—‘L - JH-' !

I SU() = GfMJ




o [ R

Gup = S;[z)c x SU 2), meﬂ:;g‘

SU(4). 2 Svk), xU),,

worw Y B, Jolue 72
d d e LY

& =7
SU(4),

H

Ps v U (=) X Vhlp_,

@SV &) x SU6) = "50 (4)
’/::2 Y= 2

4.8



SUR) x JU2) x SU /4)

- \\ \\
= S0(4) x f@(é)
(__ —— _

Uiniwd ©UT = 10 (1o) 2 sol4) XSols)

/ /
Vool Offﬂ/lo) = |0 = /é"l
|0









| (40 ow)) = /\/J

Vxv = § + A
?x ¢ (igumee) (el Wwﬂﬁ)

2 2w ) L 20 Gv-)

jO[lo) ! A : /(9'4/2 = 45




g ¢" ¢/' —= 0Oy ¢u D/'e ¢(’

5"]. - O arhe 072—1

<
S — o507

/:’_AOA‘QT:}:) TYA‘:O]

TS — I osoT =T 0708 =Tv ¢

S' ! éa fa/ahﬁy Ty S

,uJ : Zf/ /Zil)_ 1.




folo) 1 § — 5% bpuad

/:S/nimf 07" JO /2,1/)‘\

I

/ J);/u /21(/) ”=HJD /ZIU))

| [, f= ), - 2N

{77, /‘I'f_z Ly
=5 / — —
Zj = ]

[J)“e"(a/




S0 (2w)  Complll










)
ol zwdlwa)

) .
/ I: - a) ﬂj \ | ahutica g P

(L

Py, ?TC' 1{' = fuy. J
) f tu Loy

- \
QPT’ 2 q]" = /:Wm/w](’ J
l

v
YTy Y = % Bty ¥ =(w.

)[__STE:ES*]




/ TR = EZ")

YT ¥ = tU+627)E
(14('9 i) ‘Y)-f-*'

“YBF IOV ETRrRZ) Y-

V4 I

’ V),
77 R+ BZj =0 }

|

e =€O)Y T —— Ly

= 22, 22z, ZZZA/—I, 24



' :':i &WM

= ¥
' = & ¥ =
lrve =1

= ZZn“

€, --- =W

/?%. = |g & - 547 )

/2, - &y =+

= €










/Cz ot o JO/MJ







S0, x SV (3¢ x— -~
by, T be = (W fo[”’)
[ 1 d
LR
¢
i J0(10) LR Hua,
Hee !
¢
A wuf be C












¥Tey = (k) (0, ) ()
— A

\
| /Jﬁ.7a.‘c. S Y = % K@M |

L I

~

[ NO Mass TERM

“ ) I (0 /2) ‘




vesl, ¢ 0 G) — (0/24)

B / YRIT Y B = /wmﬂ

:80 [Z) J I’(¢ ¢'J r)_‘-: TZ.




Yo
16'
S 4
¢
,‘I‘
Y's
, G
Y
¢
2

YTy
¢) +
4/(
()pT'
6z ¢
$2

_.._[f
v (4, +
y
=) J

S
| Y
— -’v/‘/
Eo
I 452)

4
cw ¢
Al
) e-t'ﬁ(
b 1
‘b ) )

fw
(
J

el

‘J\ —
0 — &Q ,L/ﬁ?%}
O——“/i)
IU
0
O/l}}’c:lLD [
4
UL
adsl /
g Z)A









( B Y
= (")
| _/(
‘TR ¥ E=1Ts
BR=T1,
102 O
®= orlt g )

27’7‘73 170 = qlb-;—Trt‘ 02 )bf-
[ J

dt)'ed" mals

—

—



[ S0 = BAD (wt dint)

=D Ugcs d&rea{' == I‘lﬂ’/-

o Hagy
\ J
[
. So (6) = 600D
R= of — diegyud

S - Y% Y = uk wal

(Him)



. SO(# = BRAD

« S0(10) = 6900
Choal

‘) ‘frli‘-f—»‘ﬁ.ﬁ‘&\

Lf* t = o 'lo J‘O[IO)
’Wfl MM

.fo/Z/I/-/’Z) — ?N—q’
bad

3o




S@(IZ)Q’:- LM = d'wwf
ea (s



